ALLAMA IQBAL OPEN UNIVERSITY, ISLAMABAD

(Department of Home & Health Sciences)

Course: Clinical Refraction (2431)
Semester: Spring, 2011
Level: B.Sc.
Credit Hours: Half
CONTENT LIST

Dear Student,
You will find the following material in your study packet.
1. Study Guide 
(Unit 1–9)
2. Theory Assignments
(1-2)
3. Practical Assignment 
(01)
4. Assignments Forms
(3 Sets)
5. Duke Elder’s Practice of Refraction

6. Schedule for submitting assignments, practicals and tutorials meetings.
Note:
If any one item from the above-mentioned content list is missing from your study packet, kindly contact:
Mailing officer

Mailing section

Services & Operational Block

Allama Iqbal Open University

Sector H-8, Islamabad

Phone: 051-9057611-12

ALLAMA IQBAL OPEN UNIVERSITY, ISLAMABAD
(Department of Home & Health Sciences)

WARNING

1. PLAGIARISM OR HIRING OF GHOST WRITER(S) FOR SOLVING THE ASSIGNMENT(S) WILL DEBAR THE STUDENT FROM AWARD OF DEGREE/CERTIFICATE, IF FOUND AT ANY STAGE.

2. SUBMITTING ASSIGNMENTS BORROWED OR STOLEN FROM OTHER(S) AS ONE’S OWN WILL BE PENALIZED AS DEFINED IN “AIOU PLAGIARISM POLICY”.
Course: Clinical Refraction (2431)
Semester: Spring, 2011
Level: B.Sc
Total Marks: 100
Credit: Half
Pass Marks: 40
ASSIGNMENT No. 1

PART-A (Marks: 25)

Mark as True or False.
(25)

1.
Regarding retinoscopy:


a)
The myopic eye greater than –1.50 D myopia yields a with response.

b)
The myopic eye always yields a with response.

c)
The myopic eyes greater than –1.50 D minifies the image of the streak on the retina of the examiner.


d)
When the far point is at the peephole of the retinoscope, with movement is seen.

e)
At neutrality, if the examiner moves forward, an against movement is obtained.
2.
Regarding Visual acuity:


a)
It should be measured with glasses only.


b)
It should be measured without glasses only.


c)
It should be measured at a distance of 6 meters.


d)
It should be measured at a distance of 6 feet.


e)
It is not important to measure if for near.

3.
Regarding cross cylinder:


a)
It is used to roughly find the axis of astigmatic error and of the correcting cylinder.


b)
Is a refining instrument.


c)
It consists of two cylinders of equal power.


d)
It consists of two minus-cylinders.


e)
It consists of two plus-cylinders.

4.
One focal line behind the retina and the other in front of the retina is:


a)
Simple hyperopic astigmatism.


b)
Simple myopic astigmatism.


c)
Compound hyperopic astigmatism.


d)
Compound myopic astigmatism.


e)
Mixed astigmatism.

5.
Lens gradient method is used to find:


a)
Accommodation.


b)
Convergence.


c)
Esodeviation.


d)
AC/A ratio.


e)
Exodeviation.

PART-A (Marks: 75)

Q.1
Describe the optics of retinoscopy in a patient with myopia higher than –1.00 diopters at a working distance of 1 metre. Omit the optics of illumination stage.
(15)

Q.2
Explain how a cross cylinder is used?
(15)

Q.3
Transpose the following optical prescriptions, also with the spherical equivalent as 
well.

(15)

a)
+1.00 sph. +2.00 cyl. x 90°


b)
+1.00 sph. + 2.00 cyl. x 170°


c)
–3.00 sph. –4.00 cyl. x 125°

c)
–2.00 sph. +5.00 cyl. x 110°


d)
–2.50 cyl. x 45°

Q.4
How would you correct Presbyopia? Write a comprehensive note on presbyopia.
(15)

Q.5
Describe different parts of trial frame and give their uses. Also write a detail note on different types of lenses present in a trial set.
(15)
ASSIGNMENT No. 2
Total Marks: 100
Pass Marks: 40

PART-A (Marks: 25)

Mark as True or False

1.
If a base out prism is placed in front of an esotropic eye:


a)
The deviation is shifted towards the nose.


b)
No change occurs with in the system.


c)
The ray is focused toward the fovea of the deviated eye.


d)
None of the above.

2.
To describe the orientation of the prism, we clinically use:


a)
Apex angle of the prism.


b)
Base of the prism.


c)
Degrees from the baseline of the apex.


d)
All of the above.


e)
None of the above.

3.
Aphakic spectacles cause:

a)
Magnification by 10%


b)
Magnification by 30%


c)
Variable vision.


d)
Induced astigmatism.


e)
All of the above.

4.
Accommodation is:


a)
Age dependent.

b)
Susceptible to fatigue.


c)
Related to convergence.


d)
All of above.


e)
None of the above.

5.
Following are the non-optical treatment options for myopia:

a)
Radial keratotomy.


b)
Keratomileusis.


c)
Epikeratophakia.


d)
Photo-refractive keratectomy.


e)
None of the above.

PART-B (Marks: 75)

Q.1
Enumerate the uses of prisms in ophthalmology.
(15)
Q.2
Explain how the Duochrome test is performed?
(15)

Q.3
What are the problems inherent in the correction of aphakia by spectacles?
(15)

Q.4
Explain the purpose of cycloplegic refraction.
(15)

Q.5
Briefly describe the corneal surgical interventions for the treatment of myopia.
(15)

PRACTICALS (Marks: 200)

1.
Log book entries. Refraction Related tasks (Observe & perform)
(150)
· Simple & compound myopic correction.
· Simple compound hypermetropic correction.

· Astigmatic correction.

· Pseudophakic correction.

· Transposition.

· Measurement of IPD & BVD.

· Refraction on autoref.

· Cycloplegic refraction.

2.
Viva Voce
(50)

3.
Total Marks:
(200)
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